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Idea : run augmenting path
look for cheap patte

L O

O

eno in M ·:cost Le
O 2

e in M e
-> a

cost - Le (x
not in M

currently in M
reason : e in pathM
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costM = cost M + cost OSP
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Issues : ① is outcome optime

② con we find shortest peth
③ con we use diskstra ?
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= Ere + Epcu) =[p(w)
eM VEL wER

-

Goals :
define peach step so that

4 PLUIO if VELd not matched

(10 &0
(1) <P = 0 if eM

if I can do this there!

② perfect watching & P
satisfying above
=>? M is mie cost

Yes inP cost

our cost of M is 0

all edges P &

② using Dijkstra
(non-negative cosb)
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Last parts maintaing p in algorithm
start p =0 all notes

unmatched
O S

prof
O·

co
V W

Dijkstrai
dives & cost of mir cost

palk from urmatated modes

to all other modes

dist(X , r) = cost unmatched

set X . on L to mode v
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&

update picul = p() + dist(X , v)
Claim : satifies required properties
(i) p(v) = 0 if unmatched

=vEX & dist(Xir)= P

(ii) eMuM Cold or new
e = (v

,w)
>

w

dist(Xiw) <dist(xir) +c
See 2 => coexpanded
&WCllb eEMexplanation & ubelow

above ineg is nowI

dist(X , u) = dist(X ,w)-

(c) eM M

select path is =
wir cost V

2 ⑨

D ↳d[X
, w] = dist(X , v)+ C
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& (X
,
w) [dist(Xiv) + ceP

=
dist(X ,

v) +c + p() - p(w)
-

= p(t) + c - p(w)

=> p'()+C =- d(X ,w) = 0

II

pl(y) + c - p((w)
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